
58 MENTAL ARITHMETIC.

1

J6. An artkk' is marked at 14<»% uf cost and ttuld at m'/o
of marked prkf. What is the gain ixr cent?

27. Buying price $75, Uj*h 33|%. Find selling price.
Selling pric^ »80, gain »20. Find gain ]m:t cent.
Buying price $40, loh $15. Find loss pet cent.
Selling price $26(), gain 30%. Find profit.

Buying price $160, gain 40%. Find profit.

SellniK prkc $30, loss 20%. Find loss.

Muying prke $90, loss TO'c. Find loss.

Selling pritc $180, buying price $150. Find gain per

28.

29.

80.

81.

88.

88.

84.

cent.

86.

cent.

86.

87.

-Selling price $l.'iO, buying price $180. Find loss i)er

Selling price $288, loss 28%. Find buying price.

Buying price 5i cts. Selling price MJ cts. Find gain
per cent.

88. Sold a watch for $46, thereby losing 20%,. For how
much should it have been sold so a- to gain 2i) c?

89. A merchant marks his ii<Kxis at 40'
, above cost but

allow: a discount for cash of 10%. Find gain ,>er cent, on cash
sales.

40. A man invests $400 for two years. The first year he
gains 25% which he adds to his investment and the new invest-
ment gains 20';o during second \t^i How much is he worth
at the end of the two years?

COM MERC f AL DISCOUNT.

Exercise XLV.

1. A bill of goods listed at $600 is sold on thirty days at
a discount ol 25% with a further discount for cash of lO'^.
Find cash stlllng price.

2. What single discount would equal thi discounts in
Question 1.

8. Goods cost $300. They are marked to tie sold at 80%
of cost but an sold at 80% of marked price, (a) For what
are they sold? (b) F... what per cent, of cost are they sold.
(c) What is the percentage of discount on est? (d) How
much money is lust?


